


MC-10-12

HBmES

185D D
HE

1 P-VCT M415096-G01 1 10,230
2 dILFa—T P440407-H01 1 490
3 25>)(0— REI) P503313 1 330
4 PHVE>RD M4*14(17E) 2 70
5 PHS/hRS M6*12 2 70
6 PAwEMRS M4*30(17&) 3 70
7 AL M6*25 1 70
FNUH—/\> RJLSET
8 . . 2 1S 7,090
(RAYFA/REFRAL D)
9 Fw bk M6 1 15,640
10 |BAmiEsT 5.5SD 1 60
11 NUB—RAwvF (RFZZHILI-) M412909 1 70
11 NUB—XA v FF) (RIHAL D) M419947-GO1 1 1,900
12 [PAvE>xRD 4*8 (2. B-0) 2 7,330
13 |U—R#R M412712-H01 1 70
14 [BO—Fv hJL—H—(20A - #7) XBHERY>  |W58*C4C12A-20 1 1,190
14 |U—Fw ~JL—H—(20A - |B) xEEBRY> |TBC5131-01-1610 1 9,140
15 [SWAFPFANNERS M4*0.7*8 1 70
16 [RATUYIEARIL S M5%0.8%20 3 70
17 |JCREES 5(CSH) 3 60
18 |UW/I\D>H(IR) M210394 1 3,450
19 [JL—A() P102709-H10 1 21,070
20 |[ISIHRILY— P445180-G01 2 4,990
21 (BRI ITSS P442416-G01 2 2,370
22 |33 FvvS P504595-H01 2 640
23 |R"ANFIERD M5%0.8%6 2 70
24 |SWAIPFARNRD M3*0.5%6 2 70
25 |[2BH/N— P445701 1 490
26 |SWAIPFRNRD M5%0.8%8 2 70
27 |OALE> P443817-H01 1 490
28 | RTF—4—FERim M311421-GO1 1 14,380
29 |®=® P850966 2 560
30 (D7 HAR P304229 1 750
31 |[/CREES 5 2 60
32 |[TEIREAFANNRD M5%0.8*100 2 100
33 [BARFU>Y 6200VV 1 1,290
34  |O—4—%H& M311970-GO1 1 28,720
35 [BARFTU>Y 6202VV 1 1,540
36 (@ T M210524 1 10,650
37 [BARFTU>Y 620177 1 1,070




MC-10-12

185D D

38 [2G M412710-HO1 1 11,370
39 [¥A+-— A4-13 1 740
40 |(O—-)LJwv>a P5*6 2 860
41 |HARBMA—R M414134-H01 1 3,210
42 |BARFU>T 620322 1 1,570
43 [23A>bhSvIb M414395-01 1 9,620
44 |BARTUST 630127 1 1,470
45 |¥BA+— A4-16 1 860
46 |3G M413132-HO1 1 5,700
47  |EACHEISIE AR WR-12 1 560
48 [a—aA>hr—X M110249-H10 1 19,520
49 |)URESR 6(CSH) 2 60
50 |"AIUIARIL S M6*45 2 250
51  |/)CREES 5(CSH) 2 60
52 |"AIMIARIL S M5%0.8%40 2 100
59 |EMACHZLE XER CS12 1 60
60 |[B.ARFZU>H 630127 1 1,470
61 |4G M311711-HO1 1 8,320
62 |*¥A+— A5-16 1 860
63 |/~ M412754-H01 1 3,850
64 |[BARFZU>H 6202DDU 1 1,420
65 |REZRILZVIH M412753-H01 1 10,880
66 |(RE>R)LEHFRSZT M413596-H10 1 9,170
69 |FEEE 6 2 60
70 |[Fwvhk M6 2 100
71  |EEF7—A(MC-10 M210667-H10 1 4,400
72 |(RTUSDE> 5%30(FY) 1 80
73 |[ZO> BN\ RIL M312348-G01 1 17,120
74 |I>RFvwS M411423-HO1 2 970
75  [/\>RILIBT M413597-H10 2 780
76  |[/NAFIRIL S MC-10 M6*110 2 180
76  |[NANIARIL S MC-12 M6*45 2 250
77 |FrRE— M414000-HO1 1S 3,930
78 |PAvERD 1412-H2-4012 4 70
79 |JJFv b G-TYPp4510M 1 2,950
80 |FREE 10 2 90
81 |/)\REER 10 1 300
82 |AIRREEMIL & M414200-HO01 1 1,900
84 |BHEFvvVS M415002-H01 1 1,000
89 | RAXR—H—(#ihE) M414308-H01 1 620
90 [(HS—(ILY) M414133-HO1 1 490
91 |JL—R#H/){—(MC-10) M210666-G01 1 12,340




MC-10-12

185D D

HE

92  |EhAH CHZLE X 45 1 250
93 [q4>r—I5>> M413588-H01 1 4,630
94 |Fus—I5> M413589-H01 1 4,820
95 [EIS>IRILL M10*1.5%20(Ex>) 1 2,500
97 |1>r—T5 @) M414154-H01(OP) 1 3,920
98 |Fus—I35 3 (®) M414155-H01(OP) 1 3,920
101 [MC-10 &R M420403 1 1,840
102 [>—Es M420400 1 560
103 |E&IR(MC-10) M420359 1 370
104 |[>—I)LJL—h—F= HY—Fw NJL—H— 1 370
105 [3—LI5>> S E> REH 1 250
108 =/ 17 1 1,530
109 [/ 26 1 1,750
111 [JL—RKAH/I—(MC-12) M210923-G01 1 31,170
112 [BEF7—A(MC-12) M210924-H10 1 7,700
113 |E&IR(MC-12) M420456 1 330




